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Section A
Answer all questions on four extracts taken from two options studied.
Option A: Homer

Extract 1 Homer, lliad 16.306-329

&vBa &’ avnp élev dvdpa kedaoBeiong vopivng
Nyepovwyv. mp@tog 8¢ Mevortiov dAkipog viog
avtik’ dpa otpe@Bévtog Apnidvkov Bale pnpov
Eyxel 0&uoevty, St mpo 8¢ xaAkov Ehaocoe:

310 prgev &’ dotéov €yxog, O 8¢ mpnvig Emt yain
Kanmneo’ - &tap Mevélaog apniog ovta @davta
oTépvov yupvwBévta map’ domida, Adoe 8¢ yvia.
DuAeidng 6" Apgikhov épopundévta dokevoag
EpOn opefapevog mpuuvov okélog, EvOa mayLoTog

315 pvav avBpwmov méletar mept 8 Eyxeog aixui
vedpa dieoxioOn: Tov 8¢ okoTOG B00E KAAVYE.
Neotopidat §’ & pév obtac’ Atvuviov 6&€Ei Sovpl
Avtiloxog, Aamdpng 8¢ Sihace xdAkeov Eyxog:

fipute 8¢ mpomapotBe. Mdpig §” avtooxeda dovpl

320 AvTilOxw €émdpovoe Kaotyvrtolo xohwbelg
otag mpdobev vékvog: Tod & dvtiBeog Opacvundng
€p0On opefapevog mpiv odtaocat, o008’ dapapTey,
Opov dpap- Tpupvov 8¢ Bpaxiova dovpog dkwkr
Spvy’ &mo puwvwy, ano §’ dotéov dxpig dpae:

325 dovmnoev 6¢ meowy, katd 8¢ okOTOG dooE KAAVYEV.
®G T® pev doloiot kaotyvrTolot dapévte
Pritnyv i "EpePog Zapmndovog éablol étaipot
vieg dkovTiotai Aptowdapov, 66 pa Xipatpav
Opéyev dpatpakéTny ToAEOV KakOV AvBpwTOLOLY.

1. (a) Translate np@tog ... €Aacoe (lines 307-309). [3]

(b) Identify any two anatomical parts where blows are inflicted. Support your answer by
quoting the Greek text. [2]

(c) Present two typical features of the lliad’s epic style from this extract. [2]

(d) List three things that Atymnius and Maris have in common. Support your answer by
quoting the Greek text. [3]



Option A: Homer

Extract 2

(c)
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Homer, lliad 22.136-156

140

145

150

155

‘Extopa &, g évonoey, é\e Tpopog- ovd’ dp’ €T’ ETAn

avOt pévery, omiow 8¢ mulag Aime, i 8¢ poPnOeig:
ITnA€idng & éndpovaoe Mool kpatnvoiot memoldwg.
NYTe kipKog dpeaPLy EXaQPOTATOG TIETENVDV
pnidiwg ofunoe petd Tppwva méeLay,

1] 8¢ 0° Vraba @oPettar, 6 §° yyvBev 6L AeAnkwg
Tap@é’ émaiooel, EAéely T€ € Bupog dvwyet:

g ap’ 6y éuuepawg BV méteto, Tpéoe 6 Extwp
Teixog Vo Tpwwv, Aawynpa 8¢ yodvat’™ évawpa.

ol 8¢ apd OKOTINV Kal €PLVEOV VEHOEVTA

Teiyeog aigv UM €k kat’ apaitov é0oevovTo,
Kpouvw §” Tkavov kaAAppow- EvBa d¢ mnyal
dotal dvaiooovot Zkapavdpov divrievtog.

fj pev yap 0 Boatt Map@® péet, augl 8¢ kamvog
yiyvetat €€ adTiig g i mupog aibopévolo-

] 8 etépn Oépel mpopéet €ikvia xaladn,

1} Xtovi yoxpi 1j €€ V8atog kpLoTAAW.

€vBa O’ én’ avTawv mAvvol evpéeg £yyvg €aaot
Kalol Adiveot, 601 lpata oryahdevta

nmAbveokov Tpwwv dAoyot kakai e BOyatpeg

TO TIpiv €1 elpnvng Tipiv EAOETY viag Axatdv.

Give two details that make us understand in what direction Achilles and Hector are
running in relation to the city of Troy. Quotation of the Greek text is not required. [2]

Write out and scan fj pév ... aiBouévoto (lines 149-150). Indicate elisions where

necessary.

[2]

Describe how Homer'’s literary style emphasizes the contrast between Hector and
Achilles. Support your answer by quoting the Greek text. [6]

Turn over
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Option B: History

Extract 3 Herodotus, The Histories 7.223

Eép&ng 0¢ émel nAiov dvateilavtog omovdag émooato, EMoxwV XpOvov €6 ayopfis kov pdAlota
TAnBwpnv mpocodov Emotéeto- kai yap énéotakto £€ "Endhtew oVtw- Amo yap tod dpeog
1 KatdBaotg ovvTopWTEPT Te £0TL Kal fpaxdTepog O X@pog MOANOV 1 Tep 1) Tepiodog Te kal
avaPaots. of te O BapPapot ol dpgt Zép&nv mpoonoay, kai ot apet Aewvidny “EAAnveg, g v
5 émi Bavaty €€odov motedpevol, fj0n TOAA® paAov fj kat’ dpxag énefrioay € TO evphTEPOV TOD
avXEVOG. TO eV Yap €pupa ToD TeiXeog EQUAAOOETO, ol 8¢ Ava TaG TTpoTépag NpEpag LmedLoVTeg
&G T4 OTELVOTIOpA EpdYOVTO. TOTE O ovppioyovTeg E&w TV oTelv@V Emmtov TANOEel ToANol TV
BapPapwv- dmiabe yap ol fyepoves TV TeAéwy ExovTeg paoTiyag Eppdmfov mavta &vdpa, aiel
G TO TPOOW EMOTPUVOVTEG. TOANOL UEV O1) E0€mmToV AOT@V €6 TNV OdAacoav kai SiepOeipovto,
10 moA® &’ €t mAedveg katematéovto {wol U’ AAANAwVY- v 8¢ Adyog 00deig ToD dmoAlvpévou.
dte yap émotapevol TOv pEANovta ogiot EoecBat Oavatov ék TOV TepUdOVTWY TO SpOG,
anedeikvuvTto pwung 6oov eixov HEYLoTOV €G TOVG PapPdpoug, TapaypewUeVol Te Kal ATEOVTEG.

3. (a) State the time of the day when Xerxes orders the attack, and give one reason for his
decision. Support your answer by quoting the Greek text. [2]

(b) Translate oi augi ... adyévog (lines 4-6). [3]

(c) List two brave behaviours of the Greeks inspired by the awareness of their impending
death. Quotation of the Greek text is not required. [2]

(d) List three ways in which Herodotus stresses the unheroic character of the Persian
soldiers. Quotation of the Greek text is not required. [3]
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Option B: History

Extract 4 Herodotus, The Histories 7.236

10

(@)

Aéyel petd TodTov Axatpévng, adeh@edg te v Eéplew kal Tod vavTikod oTpatod oTpatnyog,
TapaATuUXWV Te IO Aoyw Kal Seioag un dvayvwodi] Eép&ng motéety Tadta, “@ Pacthed, Opd o€
avdpog évdekopevov Aoyoug 6 Boveet Tot b priocovTL i kai tpodidol mprypata td od. Kai
yap 81 kal tpémoiat tolovtolot xpewpevol ‘EAAnveg xaipovot tod te evtuyéety pBovéovot kal
TO KPEOOOV OTUYE0VOL. €18 €Ml TfjOL TaPEOVOTOL TUXNOL, TOV VEEG VEVAVTYNKAOL TETPAKOTLAL,
dAAag ék Tod otpatonédov Tpinkociag dmomépuyelg meptmAéery Iledomdvvnooy, d§lopaxoi tot
yivovtat ot dvtimadot- aAiG 8¢ €mv 6 VaUTIKOG OTPaTOG SVOHETAXEPLOTOG TE AVTOIOL YiveTal, Kal
dpxrv ovk &&lopaxoi Tot EcovTal, Kai mag O vavTikog T¢ me(@ dpniet kai 6 me(og @ VavTIKY OpHoD
TOPELOUEVOG- €l 8¢ dlaomaoelg, oUTe o Eoeal €keivolal Xprotpog obTe ékeivol ool. Td oewTOD

8¢ 10épevov €0 yvauny éxw T TOV AvTimoAépwy ui émhéyeoBatl mpriypata, Tfj Te 0THoOVTAL
TOV TTOAgOV TA Te TTotoovaot oot Te ARG eloi. ikavol yap ékeivol ye adTol EwutdV TépL
@povTiCewy eioi, Nueig 8¢ Nuéwv woavtws. Aakedalpoviol 8¢ fjv iwot avtia IIgponot &g paxny,
00d¢Vv 10 mapedv Tpopa dkedvrat.”

Aéyel peta todtov Axapévng (line 1). Outline Demaratus’s plan (exposed in the
preceding chapter) and its strategic purpose. [2]

Explain Achaimenes’s two arguments for keeping the fleet together. Support your
answer by quoting the Greek text. [2]

Describe how Herodotus’s account of Achaimenes’s speech makes use of rhetoric
and stylistic devices in order to persuade Xerxes. Support your answer by quoting the
Greek text. [6]

Turn over
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Option C: Tragedy

Extract 5 Sophocles, Electra 537-557

KAY. &AM\ avt’ adedgod dfjta Mevélew KTavav
Tap’, ovk Eperle TwvOE pot dwoetv Siknv;
noTEPOV EKeivw Taideg ovk foav Sumhof,
540 oV¢ tij0de paAlov eikog fv Ovijokery, TaTpog
Kal UNTpog 6vtag, 171G 0 TAodg 68 fv xaptLv;
| TOV EUdV Adng Tv’ fuepov Tékvwv
| T@V €keivng €oxe daiocaocBat TAéov;
1| T® Tavwet Tatpl TOV pev €€ ¢pod
545 naidwv mobog mapeito, Mevélew 6’ Evijv;
oV TadT’ dPfovAov Kai Kakod YVwUnV matpog;
dox® pév, el kai ofig dixa yvawpng Aéyw:
eain 8" &v 1 Bavodod y’, el pwviv Aafol.
€y pév odV olK gipll TOIG TEMPAYUEVOLG
550 Sdvobvpog: ei 8¢ ool dokd Ppovely Kakdg,
yvounv Sikaiav oxodoa Tovg mélag Yéye.
HA.  €peic puev ovxi viv yé 1’ wg &paod Tt
Aumnpov eita 0od 148’ é€fkovo’ Hmo-
AN’ fv €@iig pot, Tod tebvnkotog 0° Hmep
555 Aé€aup” av 0pOdG TG Kaotyvrtng 0 opod.
KAY. «ai prpyv é@inu’- i 8¢ 1 ®8” det Adyovg
&MNpPXES, OVK &v NoBa Avmnpd KAVELY.

5. (a) Give the two reasons why one of Menelaus’s and Helen’s children should have been
killed instead. Support your answer by quoting the Greek text. [2]

(b) Present the two hypothetical reasons given by Clytaemnestra for Agamemnon killing
their daughter rather than one of Menelaus’s children. [2]

(c) Summarize the reasons given by Clytaemnestra in support of her actions. Support
your answer by quoting the Greek text. [3]

(d) Translate éyw ... yéye (lines 549-551). [3]



Option C: Tragedy

Extract 6

6. (a)

(b)

(c)
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Euripides, Electra 822-843

825

830

835

840

Kal Aapav pooxov méda,
Aevkag £ybuvov odpkag EKTeivwy xépa-
Bdooov 8¢ Popoav éEédetpev T Spopedg
dtooovg Stavdovg inmiovg divuoe,
KAVETTo Aayovag. iepa & €6 xeipag AaPwv
Afyi000¢ 1j0pet. kai AoBog puév od mpooiv
omAayyvolg, molat 8¢ kai doxal XOAfig méEAaG
KAKAG €EQavov T@ okomodVTL TpooPoAdg.
XO pév okvBpadet, Seomodtng 8 dviotopei-
Ti xpiip” dBvpelc; @ &V, dppwdd Tva
dohov Bupaiov. €0t 6 €xOioTOG PpOoTAOV
Ayapépvovog maig mToAEpog T €poig dopolg:
0 &8’ eine: uyadog dijta detpaivelg SoAov,
MOAewG Avaoowv; ovY, OTwG TaoTrpLa
Bowvaodpecta, POAS™ avti Awpikiig
oloel TI¢ UiV koTiid’, dmoppri§w xéAvv;
AaPav 6¢ komtel. omAayxva 8’ Atyiobog Aapav
fOpet Stap@v. T0D 8¢ vevovTog KATW
dvuxag ém’ dkpovg 0Tag Kaoiyvntog oébev
£ 0povdLAovg Enatoe, voTiaia 8¢
€ppnéev dpBpa- mav 8¢ oy’ dvw kdTw
flomatpev NAdAale SuoBviiokwv Pove.

Describe the two bad omens Aegisthus observes in the entrails of the calf. Support
your answer by quoting the Greek text.

Write out and scan Atylo0og ... mélag (lines 827-828). Indicate elisions where

necessary.

Discuss how Euripides builds up a dramatic climax in this scene. Support your answer
by quoting the Greek text.

[2]

[2]

[6]

Turn over
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Option D: Agon

Extract 7 Lysias, On the Murder of Eratosthenes 1-4

10

(@)

(d)

nept TOANOD &v momoaipny, @ &vdpeg, T0 ToLoVTOVG DUAG épol SIKAoTAG TTEPL TOVTOV TOD
npdypatog yevéaBa, oloimep &v OUIv avToig einte Totadta memovloTes: €0 yap oid” dtt, el TV
aOTHV Yvouny mepl TdV AAAwv €xoLte, fjvriep mepl DU@OV adT®YV, ovk &v €l 0TI 0VK Tl TOTG
YEYEVNHEVOLG AyavaKToin, AAAA TTAVTEG AV Tept TOV TA TotadTa EMTNOELOVTWY TAG (Npiag pkpdag
fyoiofe. kal tadTa ovk &v €l povov map’ DUV 0VTwG Eyvwopéva, AAN" v andon Tij EANGSL
TEPL TOVTOL YAp HOVOL TOD ASIKNHATOG Kai €V dnpokpatia kal OAtyapyia 1} adTh Tipwpia TOlG
doBeveotdrolg mpog TovG Ta péEytoTa Suvapévoug drodédotal, HoTe TOV XElPLOTOV TOV ADTOV
TUYXAve T PeATioTw: obTwg, @ dvopeg, Tavtny Ty HPpLv dravteg &vOpwmot Setvotdtny
fyodvtaL mepi pev odv tod peyeBovg Tig {nuiag dravtag DpdG vopilw Ty adTny Stévotav Exey,
Kai 008éva oUTwg dAywpwg StakeioBat, 0TI oleTat Selv oLYYVWUNG TVYXAVELY T} HKpag (npiag
a&iovg Nyeitat Tovg TOV ToloVTWYV EpywV aitiovg: yodpat 8¢, @ dvopeg, ToDTO e deiv emdeita,
wg €poixevev EpatooBévng Ty yvvaika tnv éunv kal ékeiviy te diépOeipe kal Tovg Maidag Tovg
gUovg fjoxuve kal épe adToV VPpLoev eig TNV oikiav Ty Euny eiotv.

Outline Euphiletus’s requests to the jurors at the beginning of his speech. Support your
answer by quoting the Greek text. [2]

Translate €0 yap oid’ ... ayavaxtoin (lines 2—4). [3]

State two ways in which the crime described makes all Greeks agree. Support your
answer by quoting the Greek text. [2]

Describe the wicked deeds against his family of which Euphiletus accuses Eratosthenes.
Support your answer by quoting the Greek text. [3]
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Option D: Agon

Extract 8 Thucydides, The Peloponnesian War 4.20

10

(@)
(b)

(c)

“fuiv 6 kKaA@g, eimep MOTE, Exel AUPOTEPOLG 1) EuVaAAaym, TPV TL dVAKEOTOV SLdt ECOV
yevopevov nudg katahafeiy, &v @ avaykn aidtov v ExBpav mpog Ti kowvi] kai idiav €xely,
vuag 8¢ otepnOijvat @v viv mpokalobpeba. €118’ Gviwv dxpitwy kai DIy puev §0&ng kai
HUETEPAG PLAIAG TTPOOYLYVOHEVNG, TV 8E TIPO aloXpoDd TIvog Eupopds petpiwg katatiBeuévng
Stad\ay@pev, kal avTol Te AvTi ToAépov eipnvny édwueda kai Toig Ao’ EAAnotv avdamavoty
KAK@®V TIOOWUEV- Ol Kal £V TOUT® DHAG AUTIWTEPOVG IYoOVTAL. TTOAEHODVTAL HEV VAP AOAPDG
OMoTépWV APEAVTWV- KaTaAVoEWG O YEVOUEVNG, NG VDV DYELG TO TAEOV KDpLOL €0TE, TV XApLY
VUiV tpooBnoovoty. fjv Te yv@Te, Aakedatpoviols oty Uiv gilovg yevéaBat PePaiwg, avtdv
Te IPOKANECAUEVWV XAPLOAPEVOLG Te HAANOV i Placapévolg. Kal v ToUTE T EvovTta dyabda
okoTelTte doa €ikOG eivat: fUOV yap Kal VU@V TadTtd AedvTwy 0 ye Ao EAAnvikov {ote 61t
vrodeéotepov OV TA UEYLOTA TIUAOEL”

npoO¢ T ko kat idiav (line 2). Explain this expression. [2]

Outline the two effects that an agreement between Sparta and Athens will have on the
rest of the Greeks. Support your answer by quoting the Greek text. [2]

Discuss how Thucydides’s literary style makes the Spartans’ speech sound persuasive.
Support your answer by quoting the Greek text. [6]

Turn over
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Option F: Scientific knowledge

Extract 9 Hippocrates, De aere aquis et locis 8

10

(@)

(d)

nept 8¢ TOV OUPpiwv Kal OkOoa ATO XLOVOS PPpAcw OKWG Exel. TA ueV odV SpPpla kovoTata Kai
yAvkbTaTd €0TL Kat AemTOTATA KAl AApmpoTata. Thv Te yap dpxnv O fiAog dvdyet kai dvapmdlet
ToD UOaTog T TE AemTOTATOV Kai kKovgoTatov. dfjhov 8¢ ol dAeg moLéovot. TO HEV Yap AAPLPOV
Aeimetat adTod HTO TAXEOG Kal Pdpeog kal yiveTat Aeg, TO 8¢ AemtdTatov 6 fiAog dvapmdlet O
KOLQOTNTOG: Avdyel 8¢ TO ToLoDTO 0VK &0 TOV VATWV POoDVOV TV Aptvaiwy, AAAA Kal &7t TG
Baldoong kai €€ amdvtwy €v OkOTOLOL DYPOV TL EVETTLy. EveoTt 8¢ év mavTl XprjHatt. Kai € avtdv
TOV avOpwmwv &yet TO AentoOTATOV THG IKpHAdog Kal Kov@oTatov. Tekunplov 8¢ uéyotov- dtav
avBpwmog &v fAiw Padiln 1 kadily ipdtiov Exwy, 0kOoA PV TOD XpwTOG O AL Epopd, ovy idpwn
av- 6 yap filtog avapmdlet 10 Tpo@atvopevov Tod i§p@Tog: 0kooa 8¢ LT TOD IpaTiov éoKémaaTal
1 OT” dANov Tov, idpol. é§ayetal uev yap vmo Tod fiov kai PLaletat, oletat 8¢ OTO TG OKEMNG,
bote pr deaviCeoBat OO ToD HAiov. OKkOTAV 8¢ £G OKINY APiknTaL, dmay TO oA Opoiwg idiel 0V
yap €t 6 fAtog EmAaumeL

List three details from the extract about the formation of salt from water. Support your
answer by quoting the Greek text. [3]

Explain what the example of the man in the sun proves. Support your answer by
quoting the Greek text. [2]

Translate avayet ... xpnpatt (lines 5-6). [3]

Describe what happens when the man in the example moves into the shadow, and
explain the reason for this. [2]
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Option F: Scientific knowledge

Extract 10 Plato, Phaedrus 274d-275b

0 8¢ fjpeTo fjvtiva £kdoTn éxot w@ehiay, die§lovTtog O¢, Tt KaA®dG 1j pi kKaA@g Sokol Aéyery, TO
Hev Eyeyev, 10 8° €mnvel. TOAAA pév 81| mepl EkAOTNG TG TEXVNG €M ApgoTepa Oapodv T¢ OevO
Aéyetar anogrivacBat, & Adyog oA &v €in SteABelv- Emeldn) 8¢ émi Toig ypappaot 7y, “todto
8¢, @ Pacthed, 1O pabnua,” €gpn 6 Oevh, “coPwtépovg AlyvTTiovg Kai LVNUOVIKWTEPOLG TTapESeL:
5  pvAung te yap kai cogiag gappakov nOpedn.” 6 8’ einev- “O texvikwTate Oev0, AANog pév
Tekelv SuvaTog Ta TEXVNG, dAN0G 8¢ kpival Tiv' Exel poipav PAAPNG Te kal w@eAiag Toig péAAovat
xpfioat kai vov ob, matnp OV ypappdtwy, 8t” gbvolav todvavtiov gineg fj Svvatat. TodTo Yap
TOV HaBOvTV ARONV pev €v yuyaig mapéfet pvhpng apeketnoiq, dte S miotv ypagiig €§wdev
1t AN OTpiwV TUTIWY, 00K €vO00ev abTOVG VP’ ALTOV AVALLVOKOUEVOVG: OVKOUV UVAUNG AAAG
10 Omopvroews @appakov nopes. cogiag 8¢ Toig padntaic 66&av, ovk aAnBeiav mopilelg moAvrkoot
yap oot yevopevol dvev didayiig mohvyvwpoveg eivat ofovoty, dyvopoves wg £mt 10 TAR00G
GvTeG, kal xahemol ovveival, §o§000@oL YeYovoTeEG AVTL GOQOV.

10. (a) o texvikwtate ... Svvatal (lines 5-7). Give two reasons why, according to Thamus,
Theuth cannot be a good judge of his own invention. [2]

(b)  Explain the difference between pvrjun and dmopvnoig in this extract. [2]

(c) Discuss how Plato’s literary art supports the argument about the usefulness and
uselessness of writing. Support your answer by quoting the Greek text. [6]

Turn over
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Section B
Give a written response of indicatively no more than 300 words based on any one of the following
prompts. Your answer should demonstrate your understanding of the prescribed authors, knowledge
of broader contexts, and critical analysis.

Option A: Homer

11. Although his poetry is set in the Heroic Age, the epic poet speaks about his own society.

Option B: History

12. Our understanding of the past depends on how the ancient historians selected and used sources.

Option C: Tragedy

13. “Tragedy”, the dramatic form, represents the conflicts that arise from the characters’ own
personal tragedies.

Option D: Agon

14. There can be no resolution of agon, because agon is a conflict between incompatible individuals
or ideas.

Option F: Scientific knowledge

15. “Nobody would have investigated medicine, if the same kinds of food and the same lifestyle had
suited the sick as well as the healthy man.” (Hippocrates)




